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2016 = =0 &b LB A XIS Z M

R RPN R =Ny
A LA

Chelt LA X @ (sl &2)
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= 1,000,000
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= 484,426
Al 6,443,280
L ARRHE 516,330 186,730 329,600
SAEE K& 516,330 186,730 329,600
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OZZ2 X F=A&E #IXI0H 17,100
dHetsSE S AHE EHots MsUE 4,500 0 4,500
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=B ME2F ARY X XE 200,000 0 200,000
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01 At 22/l 200,000 0 200,000
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NS EMH gdEt
P HSANE 245 X2

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OXHSAE 43t =& 25,000
02 2324l 9,600 6,000 3,600
CUSLANE 2 H2AE HZ2E EIRS 9,600
HEANE HE € 25232 82 4,000 0 4,000
307 gl2tol & 4,000 0 4,000
02 It S AIHE L 4,000 0 4,000
OHSANE HE & 2523 g8 4,000
HSAE 2t A X3 94,000 84,000 10,000
= 4,200
Al 89,800
307 glz2tol & 94,000 84,000 10,000
= 4,200
Al 89,800
04 QIZFHALAIH E = 94,000 84,000 10,000
OMESANZE 23t AL X 94,000
< 4,200
Al 89,800
HSAE HUE FEIECR0 29 234,720 224,940 9,780
< 70,416
Al 164,304
307 21201 A 234,720 224,940 9,780
< 70,416
Al 164,304
02 B AAHEX 234,720 224,940 9,780
OFSAE ZAUE HEIJNER0 24 234,720
= 70,416
Al 164,304
HdEANE AMEBOHLM X3 AS 31,500 48,300 216,800
< 12,600
Al 18,900
307 gl2tol & 31,500 48,300 216,800
< 12,600
Al 18,900
02 It HAHE L 31,500 48,300 A 16,800
OFSAZE AZOHLM XI& A 31,500
< 12,600
Al 18,900
HSAE SR At 18,700 37,400 A 18,700
< 5,610
Al 13,090
307 glz2+ol & 8,700 17,400 A8,700
< 2,610
Al 6,090
02 IZtE A AHEE 8,700 17,400 A 8,700
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< 2,610
Al 6,090
402 RIZ2EXt20l 10,000 20,000 A 10,000
< 3,000
Al 7,000
01 A TtEAEEX 10,000 20,000 A 10,000
OESAIZE EHIXI & AL 10,000
= 3,000
Al 7,000
SZEESIANE SHAMS(FIHEZERE) 1,000,000 0 1,000,000
< 200,000
Al 800,000
308 AHAIEHHSOIA 1,000,000 0 1,000,000
< 200,000
Al 800,000
10 SISt B a XA 1,000,000 0 1,000,000
OZ2ZYEHEANE SLSAG(SHAEXA) 1,000,000
< 200,000
Al 800,000
I AZEHAEYE SHAMS(FIEEZR) 900,000 0 900,000
< 180,000
Al 720,000
308 XXM SOl A 900,000 0 900,000
< 180,000
Al 720,000
10 B 2SO B A HH A 900,000 0 900,000
ORs2ZEANE SEAL(ZHIANEXR) 900,000
< 180,000
Al 720,000
HSAE ANLEHS 534,000 1,594,200 A 1,060,200
Xl 320,000
Al 214,000
401 AIEHI L 2 CHYI 534,000 1,594,200 A 1,060,200
Xl 320,000
Al 214,000
01 A& Bl 530,200 1,589,200 A 1,059,000
ONSAIE AMESEUHS 530,200
OFFATAI IAXAME B Y 22
2 530,200
Xl 317,720
Al 212,480
03 Al S THHI 3,800 5,000 A 1,200
OHSAZ ALSEUS 3,800
ONFHETAI DAHTJAME WY & 22
g 3,800
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A E X = A 22 165,200 142,600 22,600
1GHEHY 2EEH0E2 29 10,200 10,200 0
201 Let24E] 10,200 10,200 0
01 At 22l 2,300 2,300 0
ONE BEAE=Z 2 MREES S 2,300
02 =224l 7,900 7,900 0
Ot 22482 29 S329H| 7,900
HSMEfASE SR 2SAE X & 25,000 22,800 2,200
306 =3 25,000 22,800 2,200
01 &3 25,000 22,800 2,200
OMEIMACT F RS (SILUGHISE) 25,000
AA SR JIBEAIE S X2l 105,000 109,600 A 4,600
201 Let24d] 5,000 9,600 A 4,600
02 =24l 5,000 9,600 A 4,600
OAHER JIEHAIE S22l 5,000
401 A& HIZ 201 I 100,000 100,000 0
01 A& HI 100,000 100,000 0
OLSF R JIBHAIE =22l 100,000
M W REFIE Bets & 25,000 0 25,000
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OMACHR W RFE=XE Eots £ 25,000
AFCHTH AH AHR KT & 4,500,000 12,500,000 A8,000,000
= 1,000,000
Al 3,500,000
CRAGHI ¥ FHIFXG A 4,500,000 12,500,000 28,000,000
= 1,000,000
Al 3,500,000
401 AIEHI L 201 4,500,000 12,500,000 28,000,000
= 1,000,000
Al 3,500,000
01 A& Bl 3,695,000 12,472,000 A8,777,000
O AHER & FHIHXA THAY 3,695,000
= 998,000
Al 2,697,000
02 Zeltl 800,000 0 800,000
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